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— ZAEEY 80,000& *4H x12& 3,840
—NRgE 100,000& x18H »12& 21,600
—olaEE 150,000& x4 128 7,200
—HESEEE 100,000& x1H 122 1,200
—3RAHMEE 60,0003 «1H 128 720
304 A3 RE=S 4,481,164 3,689,703 791,461
01 A3 2E3 3,700,844 3,021,395 679,449
Ods=seg & 23
25,171,000,000& *11.57% 2,912,285
Of s+ 83
25,171,000, 000& *3.7610%*80% 757,346
OMo24 23 25,171,000,000& *0. 124% 31,213
02 AHZ2ES 780,320 668,308 112,012
O=gA02=28=
25,171,000, 000& *5.819%*50% 732,351
OLEIIQRUYEE 732,351,000& *6.55% 47,969
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 249,337 160,456 88,881
iy E=PNE== 249,337 160,456 88,881
OMZZERS 45,000
OMotEES 15,000
OJIEHE HE4g g3
25,171,000, 000& *3.7610%*20% 189,337
309 MEZ 200,000 200,000 0
03 SRAAZ 2 SHILEEZ 200,000 200,000 0
OZ3RNH =0UHHESZE 23 200,000
A EXE2Y 180,000 150,000 30,000
= 126,000
e 54,000
101 @124 dl 137,230 120,000 17,230
= 96,061
e 41,169
01 2= 137,230 120,000 17,230
OAtalSXedg E= 93,600
= 65,520
s 28,080
OABI=TIo xHa22Y
7,1043 67 Al 2t +6H 12 34,270
= 23,989
s 10,281
OAtgl=Xelsd HEFOH
93,600, 000& *2/12%60% 9,360
= 6,552
s 2,808
204 MR I 11,160 6,975 4,185
= 7,812
s 3,348
02 a2 x4 7,560 4,725 2,835
OAtglsRelsE &g 22|
105,000 x6&H x12& 7,560
= 5,292
s 2,268
03 EZYREH 3,600 2,250 1,350
OAtgl =Xl SEZ PRI
50,000 «6H 12 3,600
= 2,520
s 1,080
04 A3RE=S 31,610 23,025 8,585
= 22,127
s 9,483
01 HA3EE3 18,000 18,000 0
OAtgl=Xeld H3RY S 18,000
= 12,600
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